FRAEEHEXERFTHAT(HS)

SHAH | SHXS FHRNE ZHEEE )]
1818 B |[HBERAESTHERILE 2,415
1H4H B8 HIEANESHES 2,415
1A5H F=1 20135 ONAFERILE 28 57) 1,000
1858 -1 2013 RFERILECERD) 6,000
1858 B INIBETRNSHES 2,415
1868 B |EHRHASTFERILE 2415
1H6H B |[WHMEASHES 2,415
188H B8 |REEBEHR 3,780
1888 F-3-1 013FEER) AT EESERHERILE 5,000

18108 B9 |[RERISFERIE 3,780
18118 B LEERHETRABBHE 10,000
18118 =SB FIRATHEMFAAEREHFERILE2E5) 6,000
1A HE-B |F702FTEAFAAEZRETEILSHE 2,415
1118 BE BEFTXEEMESEECHETA 10,000
18128 B HEATNSHES 2,415
1A12H B8 |mEANSTES 2,415
18128 =g E-EHFIERENEBLOBES (249) 10,000
18128 £F%E |mEAFK 6,300
18138 B BERRNSHERILS 2,415
1H13H B LERESTESHE 2,415
18148 BR ZEFEBH K 3,570
1A15H B ([BERIREFESFERILE 2415
18158 B/ LETXILREFERES - FTRUEELTXHERESR 2,415
18168 B8 BEHIREM SR TREERERILE 2,565
18168 F-3-1 BE AR RIIEESHES 3,000
18168 BE BRETNHESEECHETHA 10,000
18178 F-3-1 2EMHHBESHERILE 4,000
18188 28 ERR25FERTFERMERILE 3,000
1A188| ESmSE |HEFLEGH) 6,981
18188 B/ AEEETERESF2RTEHRE 2,415
1H18H B8 | REREREBHXEERES 2,235
18198 B8 AR EERIUBESFES - LBENERELNOIS 2,835
18198 BR Z2EF4 0y ERT LTANEKENRZ RS 10,000
18218 BM Fo1Ep/MrEBERRESRER 12,000
18218 = TRLSFRFTEISEMTERILE 4,000
18228 BM FRBISEE X TR EHEERARES 10,000
15228 = TRUFEFIREZFHIRESELBES 3,000
18238 B8 AEMURERERAR RN ETIERETESR 3,570
1H23H = 2EHAESHERILEBER) 6,000
18238 =B L2ETHRNSEASHASEXRRHESERS 4,000
15248 B 2EMSBRBAERESTERILE 2415
18248 B8 XBEREFHARRUREREREALTERILE 2415
1H24H FE |TREOHMERXTHETH 5,000
1A25H| ffemE |BERRESUERRESBICRDIEERES 5,000
1A258| SfsmSE |kELE 18,500
18258 B8 ZETHOBEE KSR EHREBUVHERES 5,000
1H26H B BREEHFES 3,150
18278 BE THESESCHATH 10,000
1H28H B8 ZEFTABROSHENDEL 2,415
1H28H BE BEEENNFERUNILEZERCHETHR 50,000
18298 | 38 -8 [ERITLIERLSIT A —XRAZY IR 8,137
1H29H B8 |mEREANISTHES 2,415
18298 %% |mRAHK 3,000
1830H B3 BRELARF2NEEESRUVFES 10,000
18308 -1 2HE BEXRRDESHERILE 3,000
1A318| EeR%E |HEFLECH) 4,859
1A318| B8 B | TRUAFEMFALEEEGRSEB (3F—L4) 30,000
18318 B BEHEEES RS EEYVHERILS 2,565
FR254E1 B 5Nt 351,882
X EX» TR Xz 2 (1)
BB 0 0
=& 13 58,000
B/ 31 123,690
BE 5 85,000

R E - 3 40,552

RELR 0 0

emE 7 35,340

Bl 0 0
R IES 2 9,300
S5 61 351,882




FRMEEHEXERFHATAS)

YHAH | THEXS FHRNE ZHEE (M)
2818 B8 BEFRBLEY 2,898
2H2H BE TBE0HAE HEFTH 5,000
2838 B BIIRESFHERES 10,000
2H4H BM LETERSHES 2,415
2848 =& L2ETBEOBEFERRE B4 R) 13,500
2H4H BE HBEOHMERXCHEFTH 5,000
2H5H B/ ZBETHPTAESESXRS 2,415
2A5H| BEHY  [F13RGL2EREGFAXRESYy/ VAV TRFHRISRUREES 5,030
286H B RENEXEERESKRERUVEESR 2,415
2A6H B8 AEHRARIESR 5,000
2H6H BR 2013EERE - FENEL 2,415
2A6H BE BEETNHESEECHETA 10,000
2878 BE S NHBEIHATH 5,000
2H8H B8 £2FVFEHLYEEHERS 2415
298| B |FFERTRERBRERS T4 7 HE 23,760
2A9H B8 L BERESEERSNES 2,415
2898 =& LZFOYEEICHESEERRARAZIS 24 5) 9,000
2A9H =5 F1EIELIAPEBREBIELNKES v/ \UHYT~EEAEERAR 2,500

— DI RTANI~RERX - SEBRS/—F1—
2A9H B/ F20ESSNAZFEDVHIRE 3,780
2898 BE BEFTXILEZEECHETA 50,000
2R108| EBERFE [XKELE 7,086
2R108 =& ZFTRUBEHEETOXEBREEEMICETIBEEMmEXIC 8,000
REBEE 24 H)
28108 =SB 2EHPRIFHEEHEHRIR 3,000
28148 | RBEa%E [HERFLECH) 4,724
28158 B8 SHEALLBFLEEEHRREEBRE 10,000
28168 BR F23EAHER/—TTRAT1/\L 3,500
28178 BE BRETNHESEECHETHA 10,000
28178 BE THBEDHMERXCHEFTH 5,000
28198 =SB BEEBEIVSTHEL(EH) 8,000
28208 -1 ELrEAKE=S8RERAETRREINETS 4500
2R208| A¥%E |[HEAFK 6,300
28238 -1 HEESLTXHELTHERS 4,000
282580 B8 L2EATHEEHEREESHERILE 2,565
2825H BE HEBETWHEZREECHERH 10,000
28268 BH ZEMELREEHEREXR - BT MHOSbKREEHSE6R 2,415
ERIEHHERES
2828H B8 LETEFAEMEEHRS 2,415
T 25428 5 /Nat 256,463
FHX 7S 31 XH$2E (M)
BB 0 0
= 8 52,500
B4 15 57,063
BE 8 100,000

B8 - B 0 0

RESH 0 0

HEmE 3 11,810

BT 2 28,790
2 RE 1 6,300
a5 37 256,463




FRUAFETEXEEZIHARGAS)

YHAHR | ZHXS THAS ZHEE (M)
3H2H F=1 2 EFTILEE B/ - AR - ERE (R S) 9,000
3A2H B HRBLAERAF YT —S&EL/ S —T~« 4,140
3858 FE HEBETWHESEECHERH 10,000
3A5H| EERE |[AHENFEANDEFTUEOYFEL KYXFEREKRKR G 3,150
3H8H F=1 LIS FHEEEZEICELIERRBRE245) 8,000
3898 B/ LETIMARFREBEUZHEEZEBES 5,000

38128 =1 BEFWRST VT ENA S ES TS 8IS RUVENS 4,000
38148 B/ BETIIKRZ-ABENURZEHRRZHMEERNES 5,000
38168 =& ELrEAMEEEERERESR 5,000
38168 BE HBEOHMEBERXSHEFTH 5,000
38178 =& LW X BRI ESEEERESEERARK T EERRE 2,500
38178 B/ BETHAUTOREESEBES 2415
3818H B/ AFBISEME130MEHESRSBES 3,570
38208 B/ BERRSAAVRISTEUREVERETREESERDIN 5,000
3H21H -1 LEHEZEEERDEFRER  RERUVEHE 2,000
38218 FE BRETNHESEECHETA 10,000
38248 BR AEREEEEEUBRENS0RAEREENES 10,000
38248 BE [BELGERT L EMEZEETH 10,000
38278 =& LEFTHEERAER XS 5,000
38308 FE BEETNHESEECHETA 10,000
T R25%E3 8 5 /et 118,775
T HX S [EE X &2 (M)
EERA 0 0
= 7 35,500
B8 13 35,125
FE 5 45,000

e - B 0 0

RESHE 0 0

SE S 1 3,150

=R 0 0
A IES 0 0
SaT 26 118,775




